


























 47' 

 12' 

Plan View

Fixed 
Dock

Hinge to 
Floating Dock

5' x 30' ADA Gangway

2 1

A

B

A

B

12

6
City of Greenville

SHEET 1 OF 4
SCALE: 1:100

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

ADA Paddleboat Dock
E. Erton

J. Harrison

10/05/17



 47' 

 12' 

 44' 

 8' 

 6' 

 4' 

 6' 

 8' 

 12' 

 32' 

 5'  12' 

 29' 

 9' 

 5' 

4-Tier 
Paddleboard 
Rack

Mock 10' Kayak

3' x 8' Safe Launch

Anchor Bracket 8'' Plastic 
Cleats

Hand 
Winch

ADA 
Transfer 
Platform

10' x 12' Jon 
Boat Dock

Dock with Accessories

8' x 12' Jon 
Boat Dock

Hand 
Winch

2 1

A

B

A

B

12

6
City of Greenville

SHEET 2 OF 4
SCALE: 1:100

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

ADA Paddleboat Dock
E. Erton

J. Harrison

10/05/17



Edge Guard 
shown in green

Edge Guard 
shown in green

Edge Guard 
shown in green

Edge Guard Layout

2 1

A

B

A

B

12

6
City of Greenville

SHEET 3 OF 4
SCALE: 1:100

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

ADA Paddleboat Dock
E. Erton

J. Harrison

10/05/17



PVC Deck Boards

Floats

Polystyrene Foam

Typical Floating Dock Section

2 1

A

B

A

B

12

6
City of Greenville

SHEET 4 OF 4
SCALE: 1:16

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

ADA Paddleboat Dock
E. Erton

J. Harrison

10/05/17



Float Mount

Float Mount

Compensation Float

Aluminum Hinge Pipe

PVC Hinge 
Pipe

Angle Mount

Angle 
Mount

Compensation Float Install Instructions
Included Components

2 1

A

B

A

B

12

1
NA

SHEET 1 OF 9
SCALE: 1:8

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

Compensation Float
C. DiBiasio

J. Harrison

08/29/16



Compensation Float Installation Instructions
Step 1

Directions:

Insert the aluminum and 
PVC pipe through the float 
mounts.

Then line up the angle 
mounts with the pipe.

2 1

A

B

A

B

12

1
NA

SHEET 2 OF 9
SCALE: 1:8

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

Compensation Float
C. DiBiasio

J. Harrison

08/29/16



A

Compensation Float Installation Instructions
Step 2

Directions:

Install the 1/4'' hardware to secure 
the aluminum and PVC pipes.

1/4'' nut and washer to secure the 
bolt on the bottom can not be seen 
in this view

DETAIL A
SCALE 1 : 3

1/4'' Hardware

2 1

A

B

A

B

12

1
NA

SHEET 3 OF 9
SCALE: 1:10

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

Compensation Float
C. DiBiasio

J. Harrison

08/29/16



Compensation Float Installation Instructions
Step 3

Directions:

Line up the compensation float angle mounts with the outer chords of the gangway.

2 1

A

B

A

B

12

1
NA

SHEET 4 OF 9
SCALE: 1:24

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

Compensation Float
C. DiBiasio

J. Harrison

08/29/16



B

Side View

DETAIL B
SCALE 1 : 9

Approximate 
Water Line

Compensation Float Installation Instructions
Step 4

Directions:

Determine desired location of 
the compensation float. 

Moving the compensation float 
to the right will result in a deeper 
draft which means higher 
buoyancy. 

Moving it to the left results in a 
smaller draft which means lower 
buoyancy.

Compensation Float

2 1

A

B

A

B

12

1
NA

SHEET 5 OF 9
SCALE: 1:36

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

Compensation Float
C. DiBiasio

J. Harrison

08/29/16



C

Compensation Float Installation Instructions
Step 5

Directions:

Once the location of the 
comp float is determined, 
drill holes through the angle 
and the square tube of the 
gangway.

Then install the 5/16'' 
stainless steel hardware 
through the angle mounts.

DETAIL C
SCALE 1 : 3

5/16'' Stainless Steel 
Hardware

2 1

A

B

A

B

12

1
NA

SHEET 6 OF 9
SCALE: 1:30

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

Compensation Float
C. DiBiasio

J. Harrison

08/29/16



D

Compensation Float Installation Instructions
Step 6

DETAIL D
SCALE 1 : 2

5/16'' washer 
and hex nut

Directions:

Secure the bolts on the inside of the 
gangway with washers and nuts.

2 1

A

B

A

B

12

1
NA

SHEET 7 OF 9
SCALE: 1:30

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

Compensation Float
C. DiBiasio

J. Harrison

08/29/16



E

Compensation Float Installation Instructions
Step 7

Directions:

Repeat steps 5 and 6 for 
the other angle mount on 
the other side of the 
gangway.

DETAIL E
SCALE 1 : 4

2 1

A

B

A

B

12

1
NA

SHEET 8 OF 9
SCALE: 1:30

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

Compensation Float
C. DiBiasio

J. Harrison

08/29/16



Compensation Float Installation Instructions
Step 8

Directions:

Once the compensation float is installed, it should 
fully support the weight of the gangway so that the 
floating dock is not listing in any direction.

If the floating dock is listing, then the compensation 
float may have to be moved to adjust its draft.

Floating Dock

Compensation 
Float

2 1

A

B

A

B

12

1
NA

SHEET 9 OF 9
SCALE: 1:30

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

Compensation Float
C. DiBiasio

J. Harrison

08/29/16



Connecting HD Docks
Isometric View

2 1

A

B

A

B

12

1
NA

SHEET 1 OF 6
SCALE: 1:30

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

HD Dock Connection 
Instructions

C. DiBiasio

J. Harrison

09/22/16



Directions:

Line up the HD Docks that 
are to be bolted together.

2 1

A

B

A

B

12

1
NA

SHEET 2 OF 6
SCALE: 1:16

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

HD Dock Connection 
Instructions

C. DiBiasio

J. Harrison

09/22/16



A

DETAIL A
SCALE 1 : 6

Hex bolts

Hex bolts

Directions:

Remove deck boards at the 
connecting end of each HD 
Dock.

Insert the 3/8'' x 5.5'' ss hex bolts 
through the connecting holes.

(See stainless steel connecting 
hardware on sheet 5)

2 1

A

B

A

B

12

1
NA

SHEET 3 OF 6
SCALE: 1:20

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

HD Dock Connection 
Instructions

C. DiBiasio

J. Harrison

09/22/16



B

DETAIL B
SCALE 1 : 6

Connecting 
Hardware

Connecting 
Hardware

Directions:

Secure the hex bolts on the 
other side with flat washers 
and nuts.

(See stainless steel 
connecting hardware on 
sheet 5)

2 1

A

B

A

B

12

1
NA

SHEET 4 OF 6
SCALE: 1:20

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

HD Dock Connection 
Instructions

C. DiBiasio

J. Harrison

09/22/16



Stainless Steel Connecting 
Bolts & Hardware

Other HD Dock 
frame components 
and hardware are 
omitted in this view 
for clarity.

3/8'' x 5.5'' SS Hex Bolt

3/8'' Flat Washer

3/8'' Flat Washer

3/8'' NutStainless Steel Connecting 
Hardware

Cross-Section View

2 1

A

B

A

B

12

1
NA

SHEET 5 OF 6
SCALE: 1:4

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

HD Dock Connection 
Instructions

C. DiBiasio

J. Harrison

09/22/16



Isometric View

Directions:

Replace the deck boards that were removed.

2 1

A

B

A

B

12

1
NA

SHEET 6 OF 6
SCALE: 1:30

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

HD Dock Connection 
Instructions

C. DiBiasio

J. Harrison

09/22/16



HD Floating Dock

Gangway or Ramp

2 1

A

B

A

B

12

1
NA

SHEET 1 OF 10
SCALE: 1:30

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

HD Dock Hinge 
Attachment

C. DiBiasio

J. Harrison

09/16/16



A

Side View

Heavy Duty 
Floating Dock

Gangway or Ramp

DETAIL A
SCALE 1 : 5

Gangway/Ramp to 
HD floating dock 
hinge assembly

2 1

A

B

A

B

12

1
NA

SHEET 2 OF 10
SCALE: 1:36

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

HD Dock Hinge 
Attachment

C. DiBiasio

J. Harrison

09/16/16



Directions:

Line up the floating dock hinge 
with the face of the HD dock, at 
the desired location.

2 1

A

B

A

B

12

1
NA

SHEET 3 OF 10
SCALE: 1:12

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

HD Dock Hinge 
Attachment

C. DiBiasio

J. Harrison

09/16/16



Directions:

Remove the deck boards at 
the end of the HD dock to 
access the inside of the frame.

Using a 3/8'' drill bit, drill holes 
through the hinge plate and 
through the c-channel frame 
of the HD dock.

2 1

A

B

A

B

12

1
NA

SHEET 4 OF 10
SCALE: 1:12

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

HD Dock Hinge 
Attachment

C. DiBiasio

J. Harrison

09/16/16



B DETAIL B
SCALE 1 : 7

Holes through 
the stringer 
angles

Holes through 
backing plates

Directions:

Line up the 3/8'' holes with the 
stringer angles.

If the stringer angles can not be 
used, then flat bar backing 
plates should be used.

2 1

A

B

A

B

12

1
NA

SHEET 5 OF 10
SCALE: 1:16

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

HD Dock Hinge 
Attachment

C. DiBiasio

J. Harrison

09/16/16



C

DETAIL C
SCALE 1 : 5

Directions:

Insert 3/8'' x 3.25'' SS flat 
head bolts through the 
3/8'' holes.

2 1

A

B

A

B

12

1
NA

SHEET 6 OF 10
SCALE: 1:16

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

HD Dock Hinge 
Attachment

C. DiBiasio

J. Harrison

09/16/16



D

DETAIL D
SCALE 1 : 7

Directions:

Secure each 3/8'' bolt 
with a flat washer and nut 
on the inside of the HD 
Dock.

2 1

A

B

A

B

12

1
NA

SHEET 7 OF 10
SCALE: 1:16

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

HD Dock Hinge 
Attachment

C. DiBiasio

J. Harrison

09/16/16



Directions:

Replace the deck boards.

The top face of the deck 
boards should be flush 
with the top face of the 
hinge plate.

2 1

A

B

A

B

12

1
NA

SHEET 8 OF 10
SCALE: 1:12

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

HD Dock Hinge 
Attachment

C. DiBiasio

J. Harrison

09/16/16



Make sure the 3/8'' bolts 
are located at the top 
and bottom lip of the c-
channel frame.

The top face of the deck 
boards should be flush with 
the top face of the hinge 
plate.

Side Cross-Section View

2 1

A

B

A

B

12

1
NA

SHEET 9 OF 10
SCALE: 1:4

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

HD Dock Hinge 
Attachment

C. DiBiasio

J. Harrison

09/16/16



Directions:

Line up the gangway or ramp 
hinge with the HD dock hinge, 
and insert the hinge rod.

2 1

A

B

A

B

12

1
NA

SHEET 10 OF 10
SCALE: 1:16

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

HD Dock Hinge 
Attachment

C. DiBiasio

J. Harrison

09/16/16



Plan View

Safe Launch Installation Instructions
Step 1

"Line Up the Safe Launch in the Slip"

Directions:

After 
assembling the 
float sections, 
line up the safe 
launch inside 
the slip as 
shown.

Required Tools for Assembly:

5/16'' Wrench

Cordless drill with 5/16'' drill bit

2 1

A

B

A

B

12

1
ACC - SF

SHEET 1 OF 4
SCALE: 1:22

REV

REF #: CHECKED:PART:
DRAWN:

DATE:

Safe Launches
C. DiBiasio

J. Harrison

01/13/16



A

Safe Launch Installation Instructions
Step 2

"Removing the Hardware"

DETAIL A
SCALE 1 : 8

Existing 5/16'' SS 
Carriage Bolts 
with Hardware 
to be removed

Directions: (See Detail A)

Remove the existing 
5/16'' hardware located 
where the safe launch 
will attach.

2 1

A

B

A

B

12

1
ACC - SF

SHEET 2 OF 4
SCALE: 1:30

REV

REF #: CHECKED:PART:
DRAWN:

DATE:

Safe Launches
C. DiBiasio

J. Harrison

01/13/16



B

Safe Launch Installation Instructions
Step 3

"Attaching the Safe Launch"

Directions: (See Detail B)

Ensure that the safe launch is directly in 
the center of the slip.

Press the mounting angle fully against the 
frame of the float.

Using a 5/16'' drill bit, drill two holes 
through the mounting angle and float 
frame.

Insert the new, included 5/16'' hardware 
into the holes and tighten in order to 
secure the safe launch to the float.

DETAIL B
SCALE 1 : 8

New 5/16'' SS 
Carriage Bolts and 
Hardware

2 1

A

B

A

B

12

1
ACC - SF

SHEET 3 OF 4
SCALE: 1:30

REV

REF #: CHECKED:PART:
DRAWN:

DATE:

Safe Launches
C. DiBiasio

J. Harrison

01/13/16



C

Safe Launch Installation Instructions
Step 4

"Using the Rope"

Directions: (See Detail C)

Take the included rope, and loop it 
through the rings shown in Detail A located 
on the bottom of the safe launch.

Tie each end of the rope to the cleats in 
order to secure the safe launch in place at 
the desired height.

DETAIL C
SCALE 1 : 8

Rope Rings

2 1

A

B

A

B

12

1
ACC - SF

SHEET 4 OF 4
SCALE: 1:30

REV

REF #: CHECKED:PART:
DRAWN:

DATE:

Safe Launch
C. DiBiasio

J. Harrison

01/13/16



Gangway or Ramp

Concrete 
Seawall

Floating Dock

2 1

A

B

A

B

12

1
NA

SHEET 1 OF 7
SCALE: 1:30

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

Seawall Hinge 
Attachment

C. DiBiasio

J. Harrison

10/12/16



A

Side View

Notes:

The wedge anchors are not 
shown in this view for clarity.

Concrete 
Seawall

Gangway or Ramp

Floating Dock

DETAIL A
SCALE 1 : 4 Gangway/Ramp to concrete 

seawall hinge assembly

2 1

A

B

A

B

12

1
NA

SHEET 2 OF 7
SCALE: 1:30

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

Seawall Hinge 
Attachment

C. DiBiasio

J. Harrison

10/12/16



Concrete Seawall

Directions:

Line up the seawall hinge 
with the face of the seawall, 
at the desired location.

2 1

A

B

A

B

12

1
NA

SHEET 3 OF 7
SCALE: 1:12

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

Seawall Hinge 
Attachment

C. DiBiasio

J. Harrison

10/12/16



B

DETAIL B
SCALE 1 : 9

Example Hole Pattern

Directions:

Holes for the wedge anchors should be drilled in a similar pattern as shown here.

The quantity of wedge anchors and spacing between them is dependent on the 
length and width of the gangway/ ramp.

Concrete Seawall

2 1

A

B

A

B

12

1
NA

SHEET 4 OF 7
SCALE: 1:30

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

Seawall Hinge 
Attachment

C. DiBiasio

J. Harrison

10/12/16



C

DETAIL C
SCALE 1 : 8

1/2'' ss wedge anchors

Directions:

Insert the 1/2'' stainless steel wedge 
anchors through the hinge plate and 
into the concrete seawall.

2 1

A

B

A

B

12

1
NA

SHEET 5 OF 7
SCALE: 1:20

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

Seawall Hinge 
Attachment

C. DiBiasio

J. Harrison

10/12/16



D

DETAIL D
SCALE 1 : 4

1/2'' ss wedge 
anchors

Side View

2 1

A

B

A

B

12

1
NA

SHEET 6 OF 7
SCALE: 1:10

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

Seawall Hinge 
Attachment

C. DiBiasio

J. Harrison

10/12/16



E

DETAIL E
SCALE 1 : 13

Directions:

Line up the gangway/ramp hinge with the 
seawall hinge, and insert the hinge rod.

2 1

A

B

A

B

12

1
NA

SHEET 7 OF 7
SCALE: 1:24

REV

REF: CHECKED:TYPE:
DRAWN:

DATE:

Seawall Hinge 
Attachment

C. DiBiasio

J. Harrison

10/12/16


	RiverParkNorth_ForBID_2018-03-07
	00-COVER
	01-SU.1
	02-L0.1
	03-L0.2
	04-L1.1
	05-L3.1
	06-L4.1
	07-L6.1
	08-SC1.1
	09-E0.1
	10-E1.1
	11-E1.2
	12-E1.3

	City of Greenville - ADA Paddleboat Dock - Prelim 6
	Sheet1
	Drawing View1

	Sheet2
	Drawing View2

	Sheet3
	Drawing View4

	Sheet4
	Drawing View5


	Compensation Float Install Instructions - Rev 1
	Sheet8
	Drawing View19
	Drawing View21
	Drawing View23
	Drawing View25
	Drawing View27

	Sheet1
	Drawing View2

	Sheet2
	Drawing View3
	Detail View A (1 : 3)

	Sheet3
	Drawing View6

	Sheet4
	Drawing View7
	Detail View B (1 : 9)
	Drawing View28
	Drawing View29

	Sheet5
	Drawing View9
	Detail View C (1 : 3)

	Sheet6
	Drawing View11
	Detail View D (1 : 2)

	Sheet7
	Drawing View15
	Detail View E (1 : 4)

	Sheet9
	Drawing View30


	HD Dock Connection Instructions
	Sheet1
	Drawing View2

	Sheet2
	Drawing View4

	Sheet3
	Drawing View6
	Detail View A (1 : 6)

	Sheet4
	Drawing View12
	Detail View B (1 : 6)

	Sheet5
	Drawing View14
	Drawing View18

	Sheet6
	Drawing View16


	HD Dock Hinge Attachment Details
	Sheet1
	Drawing View2

	Sheet2
	Drawing View3
	Detail View A (1 : 5)

	Sheet3
	Drawing View6

	Sheet4
	Drawing View8

	Sheet5
	Drawing View10
	Detail View B (1 : 7)

	Sheet6
	Drawing View13
	Detail View C (1 : 5)

	Sheet7
	Drawing View16
	Detail View D (1 : 7)

	Sheet8
	Drawing View19

	Sheet9
	Drawing View20

	Sheet10
	Drawing View25


	Safe Launch Installation Instructions
	Sheet1
	Drawing View1

	Sheet2
	Drawing View5
	Detail View A (1 : 8)

	Sheet3
	Drawing View8
	Detail View B (1 : 8)

	Sheet4
	Drawing View11
	Detail View C (1 : 8)


	Seawall Hinge Attachment Details
	Sheet1
	Drawing View2

	Sheet2
	Drawing View3
	Detail View A (1 : 4)

	Sheet3
	Drawing View6

	Sheet4
	Drawing View7
	Detail View B (1 : 9)

	Sheet5
	Drawing View12
	Detail View C (1 : 8)

	Sheet6
	Drawing View14
	Detail View D (1 : 4)

	Sheet7
	Drawing View16
	Detail View E (1 : 13)



